Losung Al

filx) = x* + x;
filx)=2x+1

Leve/ 1 - Grund/agen - B/att 1

fo(x) = 2x%2 —x + 5;
f2(x) =4x-1

) =x3+x*+x+1;
ff(x) =3x%2+2x+1

fa(x) = =5x* + 3x%;
fi(x) = —20x3 + 6x

fo(x) = 2x? — 3x3 + 4x%;
fe(x) = 4x — 9x2 + 16x3

1 1 1
t)=-t*+-t3+-t%
fe(®) 2 3 3
fe@ =t3+t*>+t

f7(t) = 2,5¢° +t—2;

2
f7(t) = 12,5t* -3

Losung A2

fi(x) = x* + x%;
fi(x) = 4x3 + 8x7

falx) = x2 +x73;
fr(x) = 12x1t — 3x~4

1 1
fol) =2+ fiG) =VE -
1 1) 1 4 1

") = — —— xX)=——+—

f3(x) xz +4x3 4 2\/} xz
1 2
fs(x) = SHx- 5; fo(t) = gt_l +1;

/ 1 , 2 _,
fs(x)=—ﬁ+1 f6(t)=—§t
f7(t)—\/_—t;

He=— 1
f7(®) G
Losung A3
2 3
fi(x) = xTz‘l'xz = 3x?; fa(x) = —ng +2,5x% — 2x + 4;
fi(x) = 6x fs(x) = —6x7 + 10x3 — 2
2 . 5 1
fo() = g% + g% + 04x — 16, £ = fy(0) = 3- =+ 2073 =5 425
2 5 3
f3(0) = §X2 +t7x+04 fa(x) = 7z 6x~* + 6x°
1 1 . 1 1
fs(x)=4\/§+ﬁ—%x 3—m; f6(t)=z+4\/f—t+1;

(x) = 2+3‘4+1 '(t) = 1+2 1

fS(x _\/— x3 20x x11 f6( - 2¢2 \/E

() =v20 -t + —t + (206)2 — 20¢;

f71(t) =20

20
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